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_6.2E  Polynomial Division— Part Il =~

Look at each equation and its graph. What does the factored form of a polynomial tell us about the graph of

~—(2x+1)( ~10)(x-6)

1.
that polynomial?
a) f(x) (x+5)(x—8)(x+12) b) F(x)=2(x+5)" (x-1) © f(x)=
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2. Name 2 other ways to say “x-intercept”
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3. Explain how to find the zero of a polynomial
function f (A) both algebraically and graphically?
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Is x—1 a factor of x2%0 +1? Explain your thinking
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4. Is 3x3 —4x? +x 2 (}1v1@1ble by x—1? Exg}gmh 5.
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Name Period

6. Is x =—4 aroot (zero/solution) of 7. Isx=3azero of P(x) = 2x> —7x? +5x ~12
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8. Find % so that x—3 is a factor of 9. Find % so that x—2 is a factor of
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10, Write a 3™ degree equation of a polynomial « 11. Write a 3™ degree polynomial function with the
function with the zeroes: 0, 2, and —5. Write your zeroes: —2, 2, and 6. 'Write your answer in
answer in factored form, standard form. ‘
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By - BwF- 2% ~ 3 is (X -3) @ factor”
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